CE-317 STRUCTURAL ANALYSIS |
DEPARTMENT OF CIVIL ENGINEERING
Midsem; September 16, 2019, 11am-1pm

Problems carry equal weightage

Problem 1 YOU MUST USE ONLY SLOPE DEFLECTION METHOD

Refer Fig. 1. For the frame having an internal hinge at C, and loaded as shown, determine
the rotation at B (i.e., £,) and reactions (i.e., forces and moment) at the support D. Use

El =4 x10"N.mm? for all members, and W = 6kN/m.
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Problem 2 YOU MUST USE ONLY MOMENT DISTRIBUTION METHOD

Refer Fig. 2. For the frame loaded as shown, determine all support reactions (i.e., forces

and moments) based on two iterations of moment distribution. Use El =4 x10"N.mm? for
all members, and P =50kN.

Problem 3 YOU MUST USE ONLY STIFFNESS MATRIX METHOD

Refer Fig. 3. Determine all member forces for the truss loaded as shown. Use the joint and
member notation as shown. Use EA=2x10°N for all members, and P =50kN.
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